
Clouds	are	the	direct	results	of	which	step
on	the	water	cycle?	A.	Condensation	B.
Evaporation	C.	Transpiration

Why	does	a	compass	always	point	north?	A.
the	compass	responds	to	the	earth's	air
pressure	B.	the	compass	aligns	with	earth's
magnetic	field

Which	of	the	following	is	a	result	of	acid
precipitation?	A.	increased	sulfur	dioxide	in
the	atmosphere	B.	increased	corrosion	of
historic	buildings

Which	of	the	following	properties	allows
greenhouse	to	stimulate	the	effects	of
earth's	atmosphere?	A.	it's	ability	to	allow
heat	to	easily	escape	B.	it's	ability	to
prevent	heat	from	escaping

Which	of	following	is	true	about	how	earth's
ocean	affect	the	planet's	climate?	A.	oceans
absorb	very	little	energy	from	the	Sun	B.
oceans	release	heat	from	the	Sun

Which	of	the	following	compound	have
increased	in	the	environment	due	to
human	activities	and	has	been	found	to
contribute	global	warming?	A.	water	B.
carbon	dioxide	C.	oxide

A	theory	and	hypothesis	are	related	in	that
A.	hypothesis	are	based	on	observation	but
theories	unify	a	range	of	observations	B.
both	can	be	turned	directly	into	laws	if
supported	with	evidence

In	which	type	of	conditions	would	an
artisan	well	be	more	likely	to	overflow	with
water?	A.	extreme	rainfall	B.	extreme	cold
C.	drought

Which	of	the	following	results	in	a	day	on
Mercury	lasting	almost	60	earth	days?	A.
quicker	rotation	of	mercury's	axis	B.	slower
rotation	of	mercury's	axis

Which	is	the	best	precaution	taken	by
people	during	a	tornado	warning?	A.
seeking	shelter	upstairs	B.	seeking	shelter
in	a	basement	C.	seeking	shelter	in	an
automobile


